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IR RIN KD 1102 KW INMR A0YR RPN - But now it would appear
that a protest not in his presence should not be a protest.

Overview

X7y 27 asked that if we derive 221w '3 npin from 790 MW, then we should
also derive that a 78nn XN XY 1192 KHW 7xmA. It would seem that his question
is that if the ¥ ¥»n made his 1°392 X%w 78M7, it should not be a valid 78N, and
therefore the 7pm should be a proper 'mptn. However Mmoo is not satisfied
with this explanation. One reason may be that if a X7 X2 1192 ROW 1NN
7XMn, then if the 2y7yn lives in a different city from the »°11n, he would be
required to travel to the s'P>1mn city to make a 7xmM. This, N1901N maintains, 1S
unreasonable’. Another difficulty with this interpretation is (as m2omn later
states’) that a 7X7vn is coming to establish a new napmi, while a a8mn is
coming to retain the present 7p11. We cannot derive one from the other.
mooIn therefore chooses a different interpretation of s'X7”y 27 question.

X 11929 w0 — The "' explained the s'x7»3 question as follows:

TV MR NEPIT 93977 95 — just as you derive from Tyman 1w -

"1t TwhRa pn T — that a P is established in three times —

N9 a1 9257 — let us also derive from 7v1m7 9 an additional lesson —

PIph ARTYT TR [frvwen] M on — just as by a Tvwn M it is required
that the warning take place in the presence of the owner; however a warning
not in his presence is insufficient to render the ox a ¥ —

7% NOR RO R X971 — and one does not say that the warning 1192 K7W is
adequately publicized -

5Im — and a 1192 X?w X797 should be adequate because the owner of the ox
will hear of the X7¥77; we do not assume that, but rather we require a 1°192 AX7Y7, because
we assume that the owner will not hear the IRV —

PID3 RYW 7RAR 911 95577 — here too by 221w s NPt if it is a Papa KOW ARMA, if
the v7vn and 17 live far apart —

2291% 32 N8 — we should similarly assume —

R9p 7% noh7 — that the nxnn does not have sufficient publicity and the P
will not hear the 7xmn —

7P XN 89 — and therefore it should not be a 737, In a case where the Tv7wn
lives in a different place, far from the 717 2127, it should not be a 7pn —

! This seems to be s""w1 understanding of the X3

% See "1nph MIMTI MANRY PPTANA 100 NANR P2 KIY TR PR KT ,ROR 77 R0 19p0 'O,
? See also footnote # 10.

* See n"an M.
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TRINT YRR %D YY nR — even in a case where the v yn heard about the
725 nevertheless it should still not be considered a fpn. The reason it should not be a
TP, is —

IRMAY 99 PRT 395 - since the objection will have no publicitys; the po1rn
will not hear it —

s [1o77] 2R 9w 797 1 — what would it accomplish if he objects —
WNIRTA PR AN XYW 3190 — since his objection will not reach the ears of

the 7]7’7717:. Therefore since there is no purpose in the nXmn, there is no reason for the
“v7vn to make a Sxmn. If no 7xAM needs to be made, there can be no 7pi1. The validity of
a 7P is based on the fact that the 7v7y» did not objectg. If there is no need (or purpose)
to object, there can be no 7p11. The question of the X nx that 1192 XPW 1RMA 7NYN KOX is
that if the 77717 is not ¥ ¥K7 *192, it should not be a 7P (not that it should not be a 7Rnn
and it should be a 13p117).

mooIn anticipates the following question:

TP Yuab N2 IR 23 YY n8Y — and even though that the intent of a
axnn is to nullify the 7275 as opposed to -

a™pY 82 ORTYAT — the warning by a 73w TW; whose intent is to

substantiate a new P17, How can we derive from 79771 MW that just as to establish a
7P it must only be 17192, similarly to establish a fXmn it must also be 171927 Perhaps the
rules concerning establishing a npn differ from those of establishing a nXmn! When we
wish to establish a new 7P, to change from the previous status, it requires a greater
effort (only 1°191); however to establish a nxXm» (which will prevent a 7pin from taking
effect, alnﬁi0 maintaining the present status) that can be accomplished much easier (even
1192 ROW) .

> moon will point out later that a 1392 X9w 7Pt has a greater chance of being heard (by the 7y7y») than a
1°192 X7W nRm» has a chance of being heard (by the p>1nn).

% See 1 M 1"am M.

7 This seems to indicate, that M99 maintains that (even) according to the 79171 Wi T, the purpose of
the 7XmnM is to weaken the position of the 11n, by challenging him that since there was a 1i%mn, then where
is your 7uw. If the p>1n will not hear the 7Ry, the purpose of the 7xnn is defeated.

¥ See “Thinking it over # 2.

? In the confrontation between the 172 and the p*11, the 7w w» (generally) has proof that he was the
original owner. The p*117 has no 70w. The claim of the P 11 that he bought the field from the vavn is
substantiated (only) by the 711 and the lack of a arnn. If the 7v7vn did not sell the field, why did he not
protest? Had the 7v7vn protested, that would have alerted the p°1m to keep his J0w. If however the p1rn
would not have heard the 7xm» anyway, what purpose is there in making it? Consequently the 7Pt in such
an instance is meaningless, for it does not substantiate the claim of the p1rn.

91t is readily understood that it is more difficult to change the status quo that to retain it. When there is
either a X7V or 1°192 XYW 1IRMM we are not certain whether it is sufficiently publicized or not. Therefore by
a 17192 XOW 1R7YA, since we cannot assume that it was heard by the owner, so the status quos remains; the
W is still a an. By 1192 X5w axnn, however, even though we are not certain whether the >t heard the
7Ry, nevertheless it is possible that he did hear it. Since it is in doubt we let the original status remain. The
field should remain ¥yt NP2, (Alternately, since the ¥y made a aRnn, therefore the basis of the 7PN
is undermined. Even if this 78m» is questionable [since 712 7% 1°X], nevertheless, it should suffice that the
9y7vn retain his original fpim.)
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mooIn responds:
sw Tp 2P 9on — nevertheless the question of nXmn onvn XOX s

justified. nooin explained previously that by arguing that IXm? XAn X2 17192 XOW 7XMM,
we really intend to say that P11 X0 X7 1192 ROW apn. Therefore the T»°% from 73m7 MW
is accurate; in both cases we wish to invalidate a 1°192 K7W npm.“

mMooIn anticipates and addresses another question on his interpretation: If the intention of
the X3 is that we should derive from Ty7 W that AP RN K 1192 ROV P10 —

7NmR ¥PT XY — then why did the X3 mention the case of 1192 ROW MR —

7t vpl XYY — and it did not mention the case of 1°192 XYW 7pPIN; since we are
interested to derive that a 1°192 X5W 1P, cannot take effect. The X3 should have asked
that 7pIn XN R? 1192 ROWw 7117 instead of nXnn. The same logic that dictates that Xow axm»
TRMN M7 RY 173192 since the P 1 does not hear the xnn, will also dictate that 17192 XYW 3P0
should not be a 17117 since the 7y7yn does not know about the 7P, so that he should be
amn.

NDOIN answers:
TIRTYIN OBV nyBw: apmT 2wn — because a 7P is more readily heard

than the warning of a 7971 2Ww. The fact that the X797 of a 797 MW must be 1193,
would not lead us to conclude that a 1°192 X?w 7117 is not a 1p™. We could differentiate
between them. The owner of the 7% may not hear the X7V of the MW (therefore it is not
a 7v1n); however the 7y yn will more likely hear of the lznpm (therefore it should be a
valid np117). That is why the & m3 cannot ask initially that 71 X0 XD 17192 Xow 7pim.

2N nynw: a8 a8 9ax — However the objection of the 7vavn is not

more readily heard than the 7x7v77 of the *w. Therefore we can compare the two,
and argue that just as a 1°192 X?w nX7Y7 is invalid (since the owner will not hear it)
similarly a 1°192 X5w nR8nn is invalid (for the P>t will not hear it). Once, however, that we
derive that a 1°192 X5W 7X7 is not a XA, then it follows that a 1°192 X?W 7P is not a pIM.
There can be no 7P without the need and opportunity of a purposeful fxm».

mMooIn anticipates an additional question: The X723 when it asks the question that a 7Rm®
1191 XYW should not be a XM, just as by a 797 MW a 1°192 ROYW 7RIV is not a ARy, the
X713 is assuming that the reason why a 1°192 X%w 17R797 is invalid, is because the owner
will not hear of it. Similarly the 7Xnn which has the same publicity as a aX7vn (as just
mentioned) will also not be heard. If the X713 assumes that the 13192 X5w 7R will not be
heard, then —

TIDIMY XM N7 TV M K931 — the same question can be asked without

any reference to 7177 . The X773 could have simply asked that a 1°192 Xow 78N —

' If the intention of the question 7IXm N¥» XX was that it should not be a 7xm», then there would be a
difficulty as just mentioned; however since as n1901N explained, the intention is that there should be no 7pim,
then it is similar to 717 W, in both cases 17192 X7W cannot establish a 7pm.

'2 An absentee owner is continually inquiring as to the status of his fields; therefore he will be aware of any
711 in his field.

" In both cases neither the owner of the M or the purchaser of the field anticipates any difficulties or
changes of the present status.

3

TosfosInEnglish.com



IR INYA XX "7 '01N 2,10 2" .70

nRm Nn K97 — that it should not be a valid 18m%; since it cannot be heard by
the p>1in. mooIN will prove that the question of 7XAM XN XY 17192 XYW nXnn, does not
require any support from Y17 MW —

39317 K298 771975 — as the x ) will later'* ask according to the 3127, who
do not derive 22w '3 ppn from TVIRT W, but rather from a X120. Nevertheless the X7ax
asks there that a XM XN XY 1192 XOW ARMA, since it cannot be heard. Why did our X3
have to resort to compare 2°1% '3 NPT to T MW, in regards to this question?!

moon answers: In truth it was not necessary to depend on 77 MW —

VAT MR 09T 190 KUK — however since we derive 271w '3 NP1 from MW
TR

739 TR 1199 N1 — it is easier for the Jwpn to challenge the status of xmN

1°192 XYW from 71177 MW; for from 7917 M we have proof that 1192 85w has no 21,
since 1°192 YW I87Y: is invalid.

mMooIn continues with the s'&7 73 answer to the question of X371y ":

9% MOR X727 720 e — and the X3 answers: ‘Your friend has another
friend, etc. In truth —

TRTYAY P2 ANARY P2 P wo — there is adequate publicity both by a axm»
and 8773 which explains why a A X177 1192 XOW AR

77573 RT3 92K — however concerning R7Y:7 itself —

N7 230277 Nt — it is a decree of the 770 -

TV Wyl 18T — that the ox does not become a Tv12 —

122 297907 19 AR RPK — unless the witnesses testify in the presence of the
owner. However —

2°7Y nR2 9 97200 WoER — even if the owner will become aware through
the testimony of a thousand witnesses, who will come to the owner and testify —
7 n°22 1MW B 17pnw — that witnesses testified in 7''52 concerning your

0X; that he gored three times. Nevertheless since he was not warned personally (in 7"2)
to guard his ox he will not be 711 "m>wna 2 1. The reason why 7R7Y7 must be 1192 is
not because the owner is not aware; but rather it is a special requirement that he be
warned personally by the 27y (in 7"°2).

Summary
The question 121 7IRmA 7NYA KOK, is that since a 1°192 KW ARV is not a X7V

therefore a 1°192 Xow axn» should not be a nXnn and consequently the [pm
1°192 XOWw should not be a 7p1m.

Thinking it over

14 X5% 71"7 '0I0 WM ,R,0 TR
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1. In the previous MmooIN there were two ways how to understand the 712
from 17 MW A. Three years makes the P*1n a P1mn in the field and the
Twyn is a Pxexin. B. If the 2w1yn did not protest for three years, then he is
presumed to give up his rights'®. When the X 3 asks 21 [&mn 1nvn KoK,
which of these two interpretation is the X723 following?

2. Mmoo states that since a 1192 X9Ww nXnn will not be heard by the po1nn,
there is no point in the ';%mn. Seemingly there is a point to the 7&mn even if
the p°1m7 does not hear it. It invalidates the proof of the 7iP11. We cannot say
that if it is the s'wwn field, why did he not protest. The Tw1wn did protest'.

3. Why is it necessary for N901n to explain the y17°n of the X711?

15 See v 1"7 x,710 "o

16 See mpm 101 KX 71"7 2,12 'O,
17 See footnote # 8.

% See v Mx 7"0.
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